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Important Instructions :

1.

This paper consists of 100 Multiple
Choice Questions (M.C.Q.). All
questions are compulsory and carry 1
mark each. There is not negative
marking.

Each question has four alternative
responses marked (A), (B), (C) and
(D). You have to choose an
appropriate answer option and mark
it on the OMR sheet.

For marking answers on OMR sheet,
follow the detailed instructions given on
the OMR Sheet.

Use only Blue or Black ball point pen
for marking on OMR.
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The natural place of an organism

or community is known as:

(A)
(B)
©
(D)

An orchid living on a tree
exhibits

Niche
Biome
Habitat
Habit

(A) Predator
(B) Mutualism
(C) Commensalism

(D) Parasitism

Which is the renewable exhaustible

natural energy resource?
(A) Coal

(B) Petroleum

(C) Kerosene

(D) Biomass

The process of vernalization is

practised in

(A) Cold countries

(B) Hot countries

(C) Only in sub-tropical countries

(D) Only in tropical countries
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Which statement is correct with

respect to the food chain?

(A) Every component of the
food chain forms a trophic level
(B) Inter-relation between
different food chains is known
as a food web
(C) All the chains formed by
nutritional relations is used
to understand energy flow.
(D) All of the above

Which of the following requires
maximum energy?

(A) Secondary consumer
(B) Decomposer
(C) Primary consumer

(D) Primary producer

The upper part of an aquatic eco-

system contains
(A) Nekton

(B) Plankton
(C) Benthos

(D) born (1) and (2)
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10.

The bottom area where produc-
tion is less than respiration in a

pond ecosystem is termed as
(A) Profundal zone

(B) Tidal zone

(C) Benthic zone

(D) Limnetic zone

Which is not the characteristic of

a population?
(A)
(B)
©
(D)

Natality
Mortality
Stratification

Sex ratio

Allelopathy refers to:

(A) Inhibition of growth of one
species by another by the

production of toxins

(B)

Inhibition of sporulation of

pathogen by the host
(©)

Altering the reproductive
cycle of one organism by
another

(D) Inhibition of growth of one
species by another by

preventing reproduction
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I1.

12.

13.

What type of food chain is it?
dead animals—>blowfly—>maggot
maggots—> frog—> snake

(A) Detrital food chain

(B) Decomposer food chain
(C) Predator food chain

(D) Grazing food chain

The ratio between energy flow at

different points in a food chain is

known as
(A)
(B)
©
(D)

Ecological capacity
Ecological efficiency
Ecological assimilation
Ecological potential

In an ecosystem, the energy flow
is always

(A) Always unidirectional

(B) Always bidirectional

(C) In any direction

(D) Always down directional
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14. Select a non-denitrifying bacteria

15.

16.

(A)
(B)
©)
(D)

Pseudomonas aeruginosa
Thiobacillus
Thiobacillus denitrificans

Bacillus ramosus

Identify the mismatched pair
(A) Tundra-Permafrost

(B) Savanna-Acacia trees
(C) Prairie-Epiphytes

(D) Coniferous forest-Evergreen

trees

"The pyramid of energy is always
upright" states that

(A) The energy conversion
efficiency of herbivores is
better than carnivores

(B) The energy conversion

effeciency of carnivores is

better than herbivores

Producers have the lowest

©)

energy conversion efficiency
(D) Energy conversion efficiency
is the same in all trophic

levels
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17.

18.

19.

The ability of a population to
increase under ideal environmental

conditions is called
(A)
(B)
(©)
(D)

Natality

Carrying capacity
Biotic potential
Absolute natality

Which of the following lake

zones has phytoplanktons in

abundance?

(A) Littoral zone
(B) Benthic zone
(C) Limnetic zone
(D) Profundal zone

Plant species with a wide range
of genetic distribution evolve

into a local population known as
(A)
(B)
(©)
(D)

Ecotype
Population
Ecosystem

Biome
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20.

21.

22.

Which of these layers of the
atmosphere consists of the
ozone layer that is responsible
for absorbing the Ultra-Violet
(UV) light?

(A)
(B)
©
(D)

Troposphere

Mesosphere

Stratosphere

None of these

An extensive number of chains

inter linked in an ecosystem forms

a together.

(A) Food chain

(B) Food web

(C) Carbon cycle

(D) Nitrogen cycle

Which of these are essential non
metallic minerals?

(A) Coal, silica, clay, cement
(B) Iron, copper, aluminium, zinc
(C) Gold, platinum, silver

(D) Granite, limestone, marble
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23.

24.

25.

Which of these days is celebrated
in the form of World Environment

Day all round the world?
(A) July 5th

(B) June 10th

(C) October 20th

(D) June 5th

Which one of these does NOT
refer to the direct use of forest
products?

(A) Grass for grazing

(B) Gums and resins

(C) Medicine

(D) Bamboo for baskets

Which of these does not constitute
to be a reason for the loss of

forests?

(A) Extinction of species

(B) Increasing use of sood
(C) Building dams and mining

(D) Extensive usage of fuel

woods
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26.

27.

28.

29.

Which drug is associated with the
tea or coffee plant source?

(A) Camphor

(B) Cafteine

(C) Thorn Apple

(D) Opium Poppy

How many total numbers of
biodiversity hotsposts are there
in the world?

(A) 36

(B) 32

(C) 28

(D) 18

Which of these are also known as
Detrivores?

(A) Decomposers

(B) Carnivores

(C) Herbivores

(D) None of the above

Which two forms of alcohol do
we include in biofuels?

(A) Methanol and Ethanol

(B) Propanol and Enthanol

(C) Propanol and Methanol
(D) None of the above
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30.

31.

32.

In which of these years was the

Forest Conservation Act amended?
(A)
(B)
(©)
(D)

Which of these gases is not

1978
1988
1963

1952

permitted to be released by the
Prevention and Control of

Pollution Act by the Government?
(A) Sulphur Dioxide

(B) Carbon Monoxide

(C) Nitrogen Oxide

(D) All of the above

Which of these elements is present
in the drinking water that can lead

to numerous fatal diseases?
(A) Phosphorus

(B) Calcium

(C) Arsenic

(D) None of the above
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33.

34.

35.

Which of these countries constitute
approximately 57% of the various

large dams in the world?

(A) Brazil and India

(B) Japan and India

(C) China and India

(D) Brazil and China

Which of these is the most

naturally occurring and frequent

disaster?

(A) Tsunami

(B) Drought

(C) Earthquake

(D) Flood

Which of the following is a sec-
ondary air pollutant?

(A) Ozone

(B) Carbon dioxide

(C) Carbon monoxide

(D) Sulphur dioxide
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36.

37.

38.

During Inversion:

(A) Temperature increases with

altitude

(B) Temperature decreases with
altitude

(C) Temperature remains

constant

(D) None of the above

Which of hte following groups of
plants can be used as indicators of

SO pollution of air?
(A) Epiphytic lichens
(B) Ferns

(C) Liver worts

(D) Horn worts

Which of the following on
inhalation dissolved in the blood
hemoglobin more rapidly than

oxygen?

(A) Sulphur dioxide

(B) Carbon mono-oxide
(C) Ozone

(D) Nitrous oxide
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39.

40.

41.

42.

Smog is:
(A) A natural phenomenon

(B) A combination of smoke and

fog
(C) Is colourless
(D) All of the above
Which of the following are likely
to be present in photochemical
smog?
(A) Sulphur dioxide
(B) Photochemical oxidants
(C) Chlorofluorocarbon
(D) Smog
Which of the following devices is

suitable for the removal of gaseous

pollutants?

(A) Cyclone separator

(B) Electrostatic precipitator
(C) Fabric filter

(D) Wet Scrubber

Autumn colouration of leaves

appears only in

(A) Tropical regions
(B) Evergreen plants
(C) Deserts

(D) Temperate deciduous plants
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43.

44.

45.

46.

Taj Mahal at agra may be damaged
by:

(A) Sulphur dioxide

(B) Chlorine

(C) Hydrogen

(D) Oxygen

Gas leaked in Bhopal tragedy:
(A) Methyl isocyanate

(B) Potassium isothoiocynate
(C) Ethyl isocyanate

(D) Sodium isothiocyanate

BOD is:

(A) A measure of the organic

matter presents in water
(B) Usually less than COD
(C) Biochemical oxygen demand

(D) All of the above

Excess fluoride in drinking water
is likely to cause:

(A) Blue baby syndrome

(B) Fluorosis

(C) Change in taste and odour

(D) Intestinal irritation
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47.

48.

49.

50.

Fluoride pollution mainly affects:
(A) Kidney

(B) Brain

(C) Heart

(D) Teeth

Which of the following is a non-point

source of water pollution?

(A) Factories

(B) Sewage treatment plants
(C) Urban and suburban lands
(D) All of the above

Disease caused by eating fish in-

habiting mercury contaminated

water 1is:

(A) Bright's disease
(B) Hiroshima episode
(C) Mina-mata disease
(D) Osteosclerosis
Which of the following is not a
marine pollutant?

(A) Oil

(B) Plastics

(C) Dissolved oxygen
(D) All of the above
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51.

52.

53.

54.

Noise is:

(A) Loud sound

(B) Sound of high frequency
(C) Unwanted sound

(D) Constant sound

Sound becomes hazardous noise

pollution at decibels:
(A) Above 80
(B) Above 30
(C) Above 100
(D) Above 120

Which of the following is a major
source of thermal pollution in

water bodies?

(A) Sewage treatment plants
(B) Solid waste disposal sites
(C) Thermal power plant

(D) All of the above

Which of the following is a likely

characteristic of hazardous waste?
(A) Ignitability

(B) Corrosivity

(C) Reactivity

(D) Any of the above
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55.

56.

57.

58.

The highest moisture content is
n:

(A) Garbage

(B) Rubbish

(C) Hospital waste

(D) Agricultural waste

BOD/COD ratio will always be:
(A) Equal to 1

(B) Less than 1

(C) More than 1

(D) None of them

Which of the following is a
biodegradable organic chemical/

substance?

(A)
(B)
(©)
(D)

Ozone day is observed on:

Plastics
Oils
Pesticides

Garbage

(A) January 03
(B) March 26
(C) November 10

(D) September 16
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59.

60.

61.

This may be use as refrigerator:
(A) CFC

(B) Carbon

(C) Acids

(D) Ozone

Which of the following is not a

solution of global warming?

(A) Reducing fossil fuel

consumption
(B)
(©)
(D)

Planting more trees
Deforestation

None of the above

Study of trends in human popula-
tion growth and prediction of fu-

ture growth is called
(A) Demography
(B) Biography

(C) Kalography

(D) Psychology
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62. Population pyramids are useful

63.

64.

to:

(A) Express the population

growth rates

(B) Express the age-sex

distribution
(C) Indicate the birth rates

(D) Indicate the death rates

Biochemical Oxygen Demand

measures:

(A) Industrial pollution

(B) Air pollution

(C) Pollution capacity of effects

(D) Dissolved oneygen needed
by microbes to decompose

organic waste.
The first national park of India is
situated in:
(A) Assam
(B) Madhay Pradesh
(C) Tamil Nadu

(D) Uttarakhand
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65.

66.

67.

68.

Ozone hole formation is maxi-

mum Over.
(A) Arctic

(B) Europe

(C) Antarctica

(D) Asia

AIDS day is celebrated on:
(A)
(B)
(©)
(D)

One of the ex-situ conservation

1st November
1st December
5th December

30th November

method for endangered species is
(A) Wildlife Sanctuaries

(B) Biosphere Reserve

(C) National Parks

(D) Cryopreservation

Environmental Protection Act in

India was enacted in:
(A) 1974
(B) 1976
(©)
(D)

1980

1986
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69.

70.

71.

72.

CBD is:
(A) Convention on Biodiversity

(B) Convention of Biological

Diversity
(C) Council of Biodiversity

(D) Conservation of Biological

Diversity
Smog is a combination of:
(A) Smoke and fog
(B) Air and water
(C) Water and smoke

(D) None of the above

Soil salinity can be measured by:
(A) Potometer

(B) Porometer

(C) Calorimeter

(D) Conductivity meter

Coolant which is commonly used in

freezing out samples at-183° C is:
(A) Liquid oxygen

(B) Liquid nitrogen

(C) Liquid oil

(D) Liquid water
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73.

74.

75.

76.

White revolution is related to:
(A) House

(B) Fish production

(C) Cotton production

(D) Milk production

The atmospheric UV radiation are

absorbed in the zone called:
(A)
(B)
(©)
(D)

The function of haemoglobin in

Troposphere
Stratosphere
Mesosphere

Thermosphere

body is:

(A) Transport of Oxygen
(B) Destruction of Bacteria
(C) Prevention of Anaemia

(D) Utilization of Iron

Chernobyl disaster occurred due

to:

(A) Nuclear reactor explosion
(B) Poisonous gas leakage
(C) Forest fire

(D) Earthquake
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77.

78.

79.

80.

The Biological Diversity Act was

enacted in the year:
(A) 1995

(B) 2000

(C) 2002

(D) 2004

The silver and gold mines are
found in:

(A) Karnataka

(B) Goa

(C) Uttarakhand
(D) Madhya Pradesh

Chernobyl tragedy took place

where and when:

(A) Ukrain, 1990

(B) Ukrain, 1988

(C) Ukrain,1986

(D) Ukrain,1983

Silent valley is located at:
(A) Kerala

(B) Maharastra

(C) Andhra Pradesh

(D) Tamil Nadu
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81.

82.

83.

84.

Renewable resources are:

(A) Water, soil and forest

(B) Natural gas, water and forest
(C) Minerals, soil and water

(D) Forest, coal and minerals

Frequency of sound measured in:
(A) Meters

(B) Hertz

(C) Km

(D) Moles

Which one is not a natural re-

source?

(A) Plastic
(B) Water
(C) Soil

(D) Solar energy

Kanha national park is in:
(A) Madhya Pradesh
(B) Rajasthan

(C) Andhra Pradesh

(D) Assam
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85.

86.

87.

88.

Chipko movement is connected
with:

(A) Flood

(B) National disaster
(C) Tribal's

(D) Deforestation

Which of the following is a

source of methane?

(A) Wetlands

(B) Thermal Power Plants
(C) Cement industry

(D) Foam industry

Oil erosion can be prevented by:
(A) Grazing

(B) Deep ploughing

(C) Heavy rain

(D) Planting trees

The 'Hot spots' are areas of:
(A) Hot springs

(B) High biodiversity area under
threat

(C) Warm places

(D) Grasslands.
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89

90.

91.

92.

. State bird of Uttarakhand is:

(A) Sparrow
(B) Peacock
(C) Blue kite
(D) Monal

A species of immediate threat of

extinction is called:
(A) Rare

(B) Endangered

(C) Endemic

(D) All of the above

Methyl isocynate gas tragedy

occurred where and when?
(A) Russia, 1994
(B) Bhopal, 1982
(C) Ukrain, 1986
(D) Bhopal, 1984

Maximum pollution in river
Ganga is at:

(A) Varanasi

(B) Haridwar

(C) Kanpur

(D) Agra
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93.

94.

95.

96.

Death while sleeping in closed
room with burning coal furnace is

due to:

(A) Carbon mono-oxide

(B) Sulphur dioxide

(C) Carbon tetrachloride

(D) Methane.

Which of the following food

chain directly depend on solar

radiation?

(A) Parasitic food chain
(B) Detritus food chain
(C) Grazing food chain
(D) None of the above
Where maximum earthquakes
occur?

(A) Saudi Arabia

(B) Japan

(C) Iraq

(D) Iran

Which water conflict is between
the states of Karnataka and Tamil
Nadu?

(A) Cauvery conflict
(B) Godavari conflict
(C) Krishna conflict
(D) Satlaj conflict
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97.

98.

99.

100.

Radioactive element which has
been found to have large reserves
in India is:

(A) Plutonium

(B) Radium

(C) Thorium

(D) Uranium

Logo of WWEF-N is:

(A) Red Panda

(B) Polar Bear

(C) Giant Panda

(D) Tiger

What is callled the biodiversity

of different ecosytem of geo-

graphical area?

(A) Alpha diversity
(B) Beta diversity

(C) Gamma diversity
(D) None of the above

In the atmosphere, the layer above

the troposphere is:
(A) Stratosphere
(B) Mesosphere
(C) Thermosphere
(D) Exosphere
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